pr.ese CEEIAEIEEY »P.740 €2EEED »P.740 81

8 fili4& (M)
HE  |AE| FRRE HE | MR LR sTR
~T7)>7| oB ¢ Dy L s ®D M [ #4EaES 2 | zhui% | SUS304
ic sl

o | 3 5 75 | 25 | 7 | *M3x3 | SC0307(1B 280 | 310 | 460

S 6 75 | 25 | 8 | xM3x3 | SC 0407 B 280 | 310 | 460

69527

6052z | 5 7.2 75 | 25 | 11 | *M3x3 | SC 0507 B 350 380 | 530

62527

60622 8.4 75 | 25 | 13 | mM3x3 | SC0607(]B1 390 | 420 | 550

62622 | 6 9.2 75 | 25 | 13 | M3x3 | SC 0607 B2 390 420 @ 550

69627 8 75 | 25 | 13 | M3x3 | SC 0607(]B3 390 | 420 | 550

608727 1.7 95 | 25 18 M4 x 4 SC 0809[_|B1 420 500 660

62822 | 8 1.4 95 | 25 | 18 | M4x4 | SC 0809 ]B2 420 | 500 | 660

69822 10.4 95 | 25 | 18 | M4ax4 | SC 0809 B3 420 | 500 | 660
600022 142 |11 [ 3 20 | M5x6 | SC1011[JB1 460 | 550 | 770
6200zz | 10 | 167 |11 | 3 20 | M5x6 | SC1011[]B2 460 550 | 770
690027 a2 gt [ @ 20 | M5x6 | SC1011[]B3 460 | 550 770
60012Z 172 |11 3 22 | M5x6 | SC1211[]B1 550 | 600 | 880
62012z | 12| 177 |11 [ 3 22 | M5x6 | SC1211[]B2 550 | 600 @ 880
690122 152 |11 | 3 22 | M5x6 | SC 1211 B3 550 | 600 | 880 P
60022Z pp2 it |3 25 | M5x6 | SC1511[]B1 600 | 680 | 930
620227 | 15| 212 |11 3 25 | M5x6 | SC 1511 B2 600 680 | 930
690227 R 25 | M5x6 | SC1511[]B3 600 | 680 | 930
600327 222 13 3 28 M6 X6 SC 1713 B1 700 770 | 1,090
62032z | 17| 242 |13 | 3 28 | M6x6 | SC1713[]B2 700 | 770 | 1,090
690322 202 |13 | 3 28 | M6x6 | SC1713[IB3 700 770 | 1,090
60042Z 252 |13 | 3 35 | M6x6 | SC 2013 B1 750 | 820 | 1,200
62042z | 20 | 272 |13 3 35 | M6x6 | SC2013[]B2 750 820 | 1,200
690427 227 |13 [ =2 35 | Mex6 | SC2013(1B3 | 750 | 820 | 1,200
600527 312 |135 | 35 | 38 | M6x6 | SC 2513 ]B1 820 930 | 1,530
62052z | 25| 332 |135 | 35 | 38 | Mex6 | SC2513(1B2 | 820 | 930 | 1,530
690527 302 |135 | 35 | 38 | Mex6 | SC2513[]B3 820 930 | 1,530
60062Z 382 |[155 | 35 | 45 | mM8x8 | SC 3015[1B1 930 | 1,090 | 1,800
6206ZZ | 30 | 402 |155 | 35 | 45 | M8x8 | SC 3015 B2 930 | 1,090 | 1,800
690627 352 |155 | 35 | 45 | mM8x8 | SC3015[1B3 930 | 1,090 | 1,800
600727 43.2 165 | 45 | 50 M8 %8 SC 3516 |B1 | 1,200 | 1,310 @ 2,180
62072z | 35 | 462 |165 | 45 | 50 | mM8x8 | SC3516[]B2 | 1,200 | 1,310 | 2,180
69072Z 412 [165 | 45 | 50 | mM8x8 | SC3516]B3 | 1,200 | 1,310 | 2,180
60082Z 482 |185 | 45 | 60 | M10x8 | SC40181B1 | 1,640 | 1,800 | 2,840
6208zZ | 40 | 522 | 185 | 45 | 60 | M10x8 | SC4018(]B2 | 1,640 | 1,800 | 2,840
690827 462 |185 | 45 | 60 | M10x8 | SC40181B3 | 1,640 | 1,800 | 2,840

*ENIIESH RO —AKRELENET,

[
4

iwarta

FRAOQORVOY T 24713 PBOECE £EW,



